
Trigonometry And Matrices : Applications Of  De Moivre’s Theorem

Calculus

Prove that Pascal 'striangle
↳0 sink = 2-9 (cos /00+2 Cos80 -3 Cos60-

8 Cos 40 +2 Cos20+6]

5¥ a Gso + i since

he = loso + i since5
'

=
Loso - i since



in -_ Cosa + isino )m

=
Cosmo + isinmo

= Cosmo - isinma

✗⇒ = loso-iisino-bso-i.si/no=2CoS0k-fe=Coso+isino-Coso+isino
Ñʰ¥m= Qlosmo .

= Qi Sino



Coto sin"O

("+1%-2%60
( n- =@ i Sinai a 2

"
i
"
sink
=L
"
sink

✗
+

he } (R - = 26.2
"
↳she sinks

a 21° Cost 0 sink



The )%÷ )
"

I 6 15 20 15 6 I

① I - I -

I 6 15 20 15 6 I

- I - 6
-15 -20 -15-6 - I

5 9 5 -5 -9-5-1

② I - I

5 9 5 -5 -9 -5 - I

- I -5 -9 -5 5 9 51



É
③ I -1

I 4 4 -
4-10-44 4 I

- I -4
-4 +4 +10+4-4-4

-1

I 3 0 -8 - 6 6 80 -3 -1

⑨ I -1

I 3 0 -8 -6 6 8 0 -3
- I

- I - 3 0 +8 +6 _
6-8-10 1-3-11

- 3 - 8 2 12 2 -8 -3 2 I



✗
'% 2×8 -3×6 - f r " +2 x2 + 12 -1¥ -% -3-6

+% +few "

C
"

%) +29%+1-374++1
- • ("%)-• fitted

= 2 Cos 100 1- 2 . -126180 ) - 3 (26%8) -8 (Noske)
+ 2 12 Cos 20 ) +12



= 2 ( lost00 +26s80 -3 Cos60 -8 Cos 40

-12 Cos20 -1 6)

2
" lost sink = 2 ( cos /00+2 Costa -3 Cos 60 -

8 Cos 40 -124020
1-6)Costa sink -_¥ Kisan)

trenched


